
Руко6одEт6о по тоDце6о<у Eоед<=е=<ю ко=6ектоDо6 <ежду Eобо= < E у7ло6ы< эле<е=то<. 

 

1.  4Eп4ку9те ко=6ектоDO 8л8 у7ло6о9 Qле<е=т.  47<еEт8те 6 <еEте <о=т464 Eо7л4E=о 
пDоекту =4 под7ото6ле==уN 6OD46=е==уN по6еDE=оEтP.  

2.  476еD=8те теплоо5<е==8к у од=о7о 87 EтOко6OE ко=6ектоDо6, Gто5O о= D4Eпол474лEO 
5л86е к оEтекле=8N. О54 теплоо5<е==8к4 дол6=O =4Eод8тPEO 5л86е к оEтекле=8N 
(кDо<е ко=6ектоD4 H8D8=о9 400<<).  

3. !оед8=8те ко=6ектоDO <е6ду Eо5о9 8л8 E у7ло6O< Qле<е=то< E по<оIPN 5олто6, 

74кDут8те 8E GеDе7 H495O 6 пDедуE<отDе==Oе от6еDEт8O. Не 74тO78649те до упоD4. 

 

 

 

4. �EполP7у9те уDо6е=P длO уEт4=о6к8 ко=6ектоDо6. ТоDFO D4<к8 дол6=O пD8<Oк4тP дDу7 к 
дDу7у 5е7 747оDо6. �EполP7у9те длO уEтD4=е=8O =4п8лP=8к, еEл8 о=8 8<еNтEO.  

5. �4тO=8те 5олтO. 
6. !леду9те ук474=8е< 8=EтDукF88 по <о=т46у 6 доку<е=те «�4EпоDт.  уко6одEт6о по 

<о=т46у 8 QкEплу4т4F88» 6о 6Dе<O уEт4=о6к8. 



 

7. !оед8=е=8е DеHетк8:  еHетк4 6кл4дO64етEO 6 к46дуN G4EтP ко=6ектоD4. В од=у G4EтP - E 
од=о9 л8H=е9 л4<елPN 6 п47у Eоед8=е=8O DеHетк8, 6 дDу7уN G4EтP – E откDOтO< 
Eоед8=8теле<. �о <еEту л4<елP 6Eт46лOетEO 6 откDOтO9 Eоед8=8телP дDу7о9 G4Eт8. 

 

 

!оед8=е=8е DеHетк8: 

Л4<елP 6Eт468тP 6 откDOтO9 п47 Eоед8=8телO 

 

 



 

!оед8=е=8е коDпуEо6, 68д 6 D47Dе7е. 

 

 

 


